
.CG Maths.
Worked Solutions



Please note that these worked solutions have neither been
provided nor approved by Pearson Education and may not
necessarily constitute the only possible solutions. Please

refer to the original mark schemes for full guidance.
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Any writing in blue indicates what must be written in order to
answer the questions and get the marks. The worked

solutions have been designed to show the smallest amount of
work which needs to be done to answer the question.

Anything written in green in a cloud doesn't have to be
written in the exam.

Anything written in orange in a rectangle doesn't have to be
written in the exam and is there to show what should be put

into a calculator or measured using a ruler or protractor.

If you find any mistakes or have any requests or suggestions,
please send an email to curtis@cgmaths.co.uk
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The order of operations, BIDMAS, needs to be followed. So 72 needs to be
done first. This means 7 x 7 which is 49. Then subtracting 49 from 700

There are two 29s, two 31s, one 46, three 43s, one 38, one 34 and one 35.
Therefore the mode is 43 as this is the number which appeared the most
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Adding together the whole numbers

Adding together the fractions

The denominators need to be the same so multiplying
the numerator and denominator of 1/4 by 2 to get 2/8.
Once they are the same, the numerators can be added

Adding together the 3 and the
5/8 gives this as a mixed number
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16 parts of the ratio represent the soft cheese. Dividing the 32oz of soft cheese
by 16 works out what one part of the ratio represents. This gives 2oz. Then

multiplying by 4 as there are this many parts representing the jam. This gives 8oz

Converting the 8oz of jam into grams

28.3 is 30 to the nearest ten. Multiplying this
by the 8oz gives 240g, which is close to 226.4
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Area of triangle = 1/2 x base x height. The base is 1cm and the height is 3cm.
Multiplying this by the length of the prism, which is 4cm, gives the volume of

gold used. The multiplication can be done in any order so doing the 1/2 x 4 first
gives 2. Then multiplying this by 3 gives 6. Then multiplying this by 1 gives 6

Mass = density x volume. The density is 19 and the volume is 6.
This works out that the mass of the gold used is 114g. Multiplying
this by the cost of 1 gram of gold gives the cost of the gold used.
Adding the £382 works out how much he sells the pendant for
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